Lys)S IVl adcelaill— 65400l olego=all 12 Jol> chiosS

- JosluU 6 jgiiniall dsnall .1

H 0 D eboilbdl Jaax) 6 gkl d2uall

7
H—C— C

| No—n

O

2(aq)

/H,0

o - a29350ll dbsleall a2
O

+4H* +4e =2 2H,0

2(g) ()
CH,COOH.,,, /| CH,CH,0H,,,, : &295;0l db>l2all auci
CH,COOH

(o T4H " +4e =2 CH,CH,OH ,,, + H,0

: dlpaz)l dsleall
+H,0 - CH,COOH,, +4H" +4e

(aq)

CH,CH,OH
0

2(g)

(aq)

+4H" +4e —>2H,0,,

CH,CH,OH,,, + 0, — CH,COOH,,, + H,0,,

cm=pV 1 J3 Go V anxl diS s 3
m,=pm=p.pV : JX} oV pxxl 9 gl jas> diS jusi ¢ JR a2 )5 p _uiss

(aq)

a

- :%Xl,02x1.103=81,6g DL Sub

n :%3 0 - 8612)6 = 1,36m0l : J3l o0 1L LS aasl 6olo iseS
 Jelisl) oMW1 Jgstodl 6300 asoS Jias 1« Joladll aogll Jsax)l 4
CH,CH,0H ) + Oy, = CH;COOH,,, + H,0,,,
n n(0,) 0 o
n-x n(0,)-x  x T
=Xy MO) =X X T

s oY go JeiliYl Jelss dylg xie

n-x.,=0= n=x_

n,=x, —>n=n,—n=136mol

a




